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(A) BENZEZAAS 100N/ MEHEZ SR IEDBED ADHKKEKN/M)  (E) HEEIImEBZDREDHEED HDRABEKN/m) tx&AA A 7E Hh JEE™ KEHET
B) (AN LEHEEMIMERTHIEEDLEZENETI(M) F) EWLZEEM AT IEENDLIEEDEE(M) =
(C) #EN=&LBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIGEDHIED HDOZAEKRN/M) L nE S
(D) CWHZEEMERTIHZEENDTEEDOEE(M) H) G EZEEYIERTIIEE0LTHRZENETE(M)
HMETHEIYTADLIREEDHDOKRES AEMMAOLREDHDOKRES
RH&ES B *
(A) (B) (&) (D) (B) (F) (G) (H) (A) (B) (o)) (D) (E) (F) (G) (H)

(1) 113.3 1.0 100.0 1.0 - - 12.2 2.4 108.7 1.0 98.4 1.0 - - 12.2 2.4
(2) 110.9 1.0 100.0 1.0 - - 12.2 2.4 109.2 1.0 98.9 1.0 - - 12.2 2.4
( 3) 139.8 1.0 935 1.0 - - 9.8 1.9 - - 72.0 1.0 - - 9.8 1.9
( 4) 101.7 1.0 98.7 1.0 - - 12.3 2.4 - - 96.4 1.0 - - 12.3 2.4
(5) - - 63.2 1.0 - - 10.8 2.1 - - 56.0 1.0 - - 10.8 2.1
( 6) 138.6 1.0 93.0 1.0 - - 12.3 2.4 - - 84.3 1.0 - - 10.0 2.0
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